The Standard Deviation as a Ruler and the Normal Model
The Standard Deviation as a Ruler

We use the standard deviation as a ruler to compare very different-looking values.
Example: Women between the ages of 20 to 29 have a mean height of 64 inches and standard deviation of 2.7 inches. Men between the ages of 20 to 29 have a mean height of 69.3 inches and standard deviation of 2.8 inches.

1. If a woman is 69.4 inches tall, how many standard deviations is she from the mean? Is she above or below the mean?
2. If a woman is 61.3 inches tall, how many standard deviations is she from the mean? Is she above or below the mean?

3. If a man is 72.1 inches tall, how many standard deviations is he from the mean? Is he above or below the mean?

4. Compare the answers that you found in questions 1 and 3. Which person would you consider to be tall? Explain.
5. If a man is 74 inches tall, how many standard deviations is he from the mean?

